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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [["I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, ’'optETcl’],

"LAI",

" optEtRate’ ]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-5 0
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P3-5

BflE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS ERF

07:40 278 150.0 25. 83 FA| FhHR@07:40 KRFMIEHF (RALESR)
08:15 278 150.0 25. 83 BH| FhHA@08:15 KENF2F (FRHAfEREE)
08:50 278 150.0 25. 83 FA| HA@O8:50 KENFZF (RAAIREE)
09:25 278 150.0 25. 83 FA| hHR@09:25 KREIZHF (RALER)
10:10 278 150.0 25. 83 FH| FhHA@10:10 KEIF2F (RAEREE)
10:50 278 150.0 25. 83 BH| FhHA@10:50 K4ENF2F (KRAERES)
11:30 278 150.0 25. 83 FA| FhHR@11:30 RAMIEHF (CRALESR)
12:05 278 150.0 25. 83 FH| FnHA@12:05 KRFEF CRAERSE)
12:40 278 150.0 25. 83 BH| FhHAe@12:40 KE1I2F (KREAHEREE)
13:15 278 150.0 25. 83 M| FHAe13:15 KREIZEF (RAEEE)
13:50 278 150.0 25. 83 |  FiHAe13:50 KFEF CRAERSE)
14:30 278 150.0 25. 83 f|  FHEA@14:30 REFZF (RAERES)
15:10 278 150.0 25. 83 M| FHAe15:10 KRENIZEF (RAEEE)
15:55 278 150.0 25. 83 M| FiHfe15:55 REIEF (REHERRSS)
16:50 278 150. 0 25. 83 M| FHEA@16:50 KRENFZF (RFAREE)
2it] 4170.0 (15)%) 2250. 0 3203 %EC: 2080.0, PH: 6.0

#H[EKECE (2087.0 vs 4660.0) 35
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P3-5_0, Day=63 (2025-05-31)
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P3-5

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS R

06:20 278 150. 0 25. 83 FA| 1E1%@06:20 Bz (kBERSE)
07:05 278 150.0 25. 83 FA| 1E2i%@07:05 B3h (FkPBEREE)
07:30 2178 150.0 25.83 PH| 1{ERi%e07:50 B (KRAFERESE)
08:55 278 150. 0 25. 83 Pl 1ERi%@08:55 Bz (RFAERE)
10:05 278 150.0 25. 83 FA| 1Ri%@10:05 B3 (KRAEREE)
10:55 278 150.0 25. 83 FA| 1BRi%@10:55 B3h (KRAERSE)
11:35 278 150.0 25. 83 FA| {Ri%@11:35 Bz CGRAERESE)
12:15 278 150.0 25. 83 FA| 1BRig@12:15 Bzh (RAERSE)
12:55 278 150.0 25. 83 FA| 1Ri%e12:55 B (KAHERESE)
13:35 278 150.0 25. 83 FA| {Ri%@13:35 Bz (GRAERE)
14:35 278 150.0 25. 83 FA| 1B2i%@14:35 Bzh (RkAERSE)
15:45 278 150.0 25. 83 BA| {Ri%@15:45 Bz (GRAEEE)
17:10 278 150.0 25. 83 FA| {Ri&@17:10 Bz CGRAEEE)
23t]3614.0 (13)% 1950. 0 3Z U KEC: 2080.0, PH: 6.0

#HERECE (2220.0 vs 4703.0) d5



FRV (ml plant-1)
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ET (ml/hr/plant)

P3-5_0, Day=62 (2025-05-30)
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P3-5

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

07:00 273 150.0 25. 83 F[  BRi%e07:00 Ba1 (RAERSE)
07:35 273 150.0 25. 83 S| {Rig@07:35 Bz (RAERSE)
08:10 273 150. 0 25. 83 E BRi%e08:10 Bz (RAERE)
09:15 273 150.0 25.83 (Z=| {Ri&@09:15 Bz (FAERSE)
10:00 273 150.0 25.83 (£ =| 1Ri%@10:00 Bz (RAEAERSE)
10:40 273 150. 0 25.83 |Z=| 1Ri&e10:40 Bz (GRAEREE)
11:15 273 150.0 25.83 |Z=| {Ri&e11:15 Bz GGREAERSE)
11:55 273 150.0 25.83 (£ =| 1Rige11:55 Bz (REAERSE)
12:35 273 150.0 25.83 (Z=| {Ri%e12:35 Bz (REAEHSE)
13:15 273 150.0 25. 83 5| {Ri%e13:15 Bz (RAERSE)
13:55 273 150.0 25. 83 = {RRiB013:55 B (RFAKESE)
14:30 273 150. 0 25. 83 E BRige14:30 Bz CGRAERESE)
15:10 273 150. 0 25. 83 El BRi&e15:10 Bz GRAEREE)
15:50 273 150.0 25. 83 =l RRiB015:50 B (RFAEESE)
16:50 273 150.0 25.83 (Z=| {Ri%@16:50 Bz (KRAEHSE)
21t] 4095.0 (15)%) 2250. 0 3203 %EC: 2080.0, PH: 6.0

#HERECE (2323.0 vs 4560.0) 35
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ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-5_0, Day=61 (2025-05-29)
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P3-5

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS SRR

06:55 278 150. 0 25. 83 = {RRi8006:55 BHzh (RAEESE)
07:30 278 150.0 25. 83 = {RRi8007:30 B (RFAEEE)
08:05 278 150. 0 25. 83 E  1BRi&e08:05 Bzl (RAEREE)
09:10 278 150.0 25. 83 5| {Ri%@09:10 Bz (FRAERSE)
09:55 278 150.0 25. 83 = {RRiB009:55 B (RFAEEE)
10:35 278 150.0 25. 83 = {RRiB010:35 Bz (REAEEE)
11:10 278 150.0 25. 83 =l Rig011:10 B3 (GRAEESE)
11:45 278 150.0 25. 83 =l {Rige11:45 B3 (RAERSE)
12:20 278 150.0 25. 83 =l RRiB012:20 B3 (REAKEE)
13:00 278 150. 0 25. 83 E| {Rig@13:00 B3h (RE{ERSE)
13:40 278 150.0 25. 83 F BRige13:40 Bz CGRAERESE)
14:15 278 150.0 25. 83 =l Rige14:15 Bz (REAKEE)
14:50 278 150. 0 25. 83 E BRige14:50 Bz (GRAERESE)
15:30 278 150.0 25.83 5| 1RiR@15:30 B3 (REAEES)
16:15 278 150.0 25. 83 =l RRiB016:15 Bz (REAKEE)
17:15 278 150. 0 25. 83 E BRige17:15 Bz CGRAERESE)
21t 4448.0 (16)%) 2400. 0 3203 %EC: 2080.0, PH: 6.0

##[EKECE (2400.0 vs 4310.0) 35
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P3-5

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

07:05 278 150.0 25.83 (Z=| {Ri&@07:05 Bzh (FAERSE)
07:40 278 150. 0 25.83 |Z=| {Ri%e07:40 B (REEZEHE)
09:00 278 150.0 25.83 |Z=| {Ri%@09:00 Bz (KREEZEHSE)
09:50 278 150.0 25.83 (Z=| {Ri%@09:50 Bz (FAERSE)
10:30 278 150. 0 25.83 |Z=| {Ri%e10:30 B (REAEZBE)
11:05 278 150. 0 25.83 |Z=| BRige11:05 Bzl (GRAEREE)
11:40 278 150.0 25.83 |Z=| {Ri&e11:40 Bz GGREERSE)
12:15 278 150.0 25.83 |Z=| {Rige12:15 Bz (REAEZBE)
12:50 278 150.0 25.83 |Z=| {Ri&e12:50 Bz (REEZEBE)
13:30 278 150.0 25. 83 FA| {Ri%@13:30 Bz (GkAEEE)
14:05 278 150.0 25. 83 FA| {Ri%@14:05 Bz (GRAEREE)
14:40 278 150.0 25. 83 FA| 1BRi%@14:40 Bzh (RAERSE)
15:15 278 150.0 25.83 (£ =| {Rige15:15 Bz (REAEDSE)
15:55 278 150.0 25.83 |Z=| {Ri&e15:55 B (REEZEBE)
16:45 278 150. 0 25.83 |Z=| {Ri&e16:45 Bz (REAEZEBE)
2it] 4170.0 (15)%) 2250. 0 3203 %EC: 2080.0, PH: 6.0

#H[EKRECE (2393.0 vs 4003.0) i d 5
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ET (ml/hr/plant)

P3-5_0, Day=59 (2025-05-27)
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